
Time: 10 Minutes Paper Math 7 (T-1) Total Marks: 10

6th Month, 4th Week, 4th Day Review Exercise 5 Q # (12,13,14)

 Answer the following questions:  
Q.1. Tahir throws a pair of fair dice. Find the probability of getting. (2.5x2=5)


(i) Product of dots between 10 _ 30.  30  10 
(ii) Even number on both the dice. 
Q.2. Complete the table. (1x5=5) 

Sr. No. n (A) n (s) P (A) P (A')

(i) 11 17

(ii)  1 
21

(iii)  2 
3

(iv) 21 36
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